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Solving First Degree Equations with One Variable inTwo-Steps in R
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Solving the Equations by using Addition and Subtraction
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Solving the Equations by using Multiplication and Division
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Solving First Degree Equations with One Variable by Multi-Steps in R [4- 2]
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Solving the Equations Which has variable in one side or both sides
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Solving the Equations containing Absolute Value
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Solving Second Degree Equations with One Variable in R [4— 3]
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Solving the Equations by Using Square Root
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Solving the Equations by Using Zero Product Property

Gaaadl asl (9950 o) oy ASLD Tydad (Solas (a3t iy dona GLS 3] 1% piadl ipall dsols

b=04 a=0 I s35s ab =0 oLs 13 aits 1ady. 0x8 =0 . 5x0 =0 $tio fiuo sglass

JEo¥L egmw g Lasy L= -5+ 30tgeitat Jiay tdwst, )3(JLie
(19l a3l T Jiad 3f elegdl b jlise addbsl sidlg
S £ La5)¥) yo dguisdl Sgry ST 231 (o3 i

Ao Gl

L=0 08-Sy Loaic aio Gliasl gl ¢ Las)¥! s gl (S
52+ 30t=0 I3
5t)-t+6(=0 el folad! Zl il Hon
5t=0= t=0 Srisall cpall dpals
t+6=0= t=6 d

(oIl egasd! @Ml o) g0 T = 0
- eIl die Gl 31 £ La,¥T LI Bagell @ ganll ad, 23wl s3Il ol g t = 6

[rall cpall dols Jleriawl A0 o¥aleod I )A( Jlio
I()X-3()x+5(=0= x-3=04 x+5=0=x=34 x=-5
i()t+8()t+8(=0= t+8=04 t+8=0=1t=-85i t=-8
ii()y-12()y—9(=0= y-12=04 y-9=0=>y=124 y=9
v()2z-7()2+3(=0= 22-7=04 z+3=0=>z=L4 z=-3
vO)n+/3()n-v2 (=0=>n+Vv3=04n-v2=0=n=-v3 4 n=v2
Vil X3-x=0= x)x-1(=0= x=04 x-1=0= x=1
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Solving Two-steps Algebraic Inequalities in R
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Reflection and Rotation in the Coordinate Plane
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Rotating in the Coordinate Plane
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